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= 3,000 0 3,000
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37,900 40,000
Ctatalst stESHE = 19,000 19,000
= 18,900 21,000
18,900 21,000
201 LBt AE| = 9,975 9,975
= 8,925 11,025
01 At 2teltl 18,900 21,000
O 2et=ZH| 18,900 21,000
— ChetalstelsdeE 29l Z2& 18,900,000& 18,900 21,000
== 9,975 9,975
i 8,925 11,025
22X =20 89 ¢t 249 33,061 36,734
307 212t01 & 33,061 36,734
05 BIZ2tREZF 33,061 36,734
O oaE2 28 33,061,000& - J|& 36,734,000 23,673 0
2FAE Y 29 119,372 80,500
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201 2Bt | 119,372 80,500
01 AR 2teld] 119,372 80,500
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O Zet=EZH| 46,922 0
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SSAMNEH 2 18,050 18,800 AT750
301 LEtE A3 14,250 15,000 AT50
12 JIEt2a= 14,250 15,000 AT50
O tlatEz g3 14,250,000& - J1& 15,000,000 AT50 0 AT50
7,758,190 6,342,200 1,415,990
= 100,000 0 100,000
2 J|g =2E = 3,714,000 3,618,000 96,000
< 300,000 300,000 0
= 3,644,190 2,424,200 1,219,990
7,102,190 5,782,000 1,320,190
= 100,000 0 100,000
A e
= 3,618,000 3,618,000 0
o 3,384,190 2,164,000 1,220,190
3,834,000 3,384,000 450,000
ZE gAY s 2,300,000 2,300,000 0
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